Question Bank

LIMITS AND DERIVATIVES

Class 11 - Mathematics

10 10 10
The value of lim (z+1)"+(z+2) " +. . .+(x+100) is

T—00 21041010
a) 100
<) 1010
lim 1;:;:5 is equal to
@3
a)l
c)-1

If f (x) = /1 — x2, x € (0, 1), then f'(x), is equal to
a) /1 — x2

= qi -1 = -1 — 2 d—y:
Ify=sin™ xandz=cos™"4/1 — z*, then -~

a) -1

ol

sin x

lim
T—T

is equal to

a)l
c)?2

lim (\/ 2+z+1-— CL‘) is equal to

T—00
1
El) 5
o0
ﬁcos z—1

lim cot x—1

is equal to
z—7/4

a)l
1
C)E
Ify=.z+ ﬁ,then% at x = 1 is equal to
1
a)ﬁ
o0

% (sec_1 CL‘) is equal to

a)1

1422

b) 10

d) None of these

b) 0

d) does not exit

b) /z2 -1

d)

V/1—z?

b) tan~! —=
1

22

d) o

b)%
1

DN

b) 1

d)

N~

b) —L— for|x|>1

3z+/22—x
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

—1

zy/z2-1

0)

for [x| > 1

If G(x) = /25 — 22 then lim S0

G(1)
1

has the value

z—1
a) %
c) _714
% <w a? — z2 + a?sin! (%)) is equal to
a) 1 + x2
) 10;9:

lim (M) sin( 1) is equal to
z—0 r z

a)l
c)-1
V1+y/2Fz—/3

glﬁli% ———  isequalto
1
RV
ORVE]

. 14243+ 4n
lim ———————
n

n—oo

1
H)E

1
C)Z

,m € N, is equal to

If f(x) = x100 + x99+ x + 1, then f'(1) is equal to:

a) 5049

¢) 5050

sinz _
T

lim
T—00

a) None of these

c) 00
. V/Z2+10—y/19
Jim YZHOVIT o equal to
z—3 z—3
a)l
3
C) ﬁ

Ifyz\/a:—i— \/ac—i—\/ac—i—...—ktooooothenjx—y:

d 1
) |z|v/22—1

for [x| > 1

b) —y/24

d)%

b) 24/a% — x2
d) /a2 — x2

b) a real number other than 0 and 1

d) 0

b) 8v/3

d)

el

b) 0

d1

b) 50051

d) 5051

b) 1

d) 0

6
d) o

2y—1

T
d) /5

b) SE)C2 X

d) 2 T
sec <\/2—+1>
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20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

. 1—cos 46
lim ———=

m = e is equal to

a) 4/9

c)-1

1

r—a

The function, f(x) = (x - a)2 cos

a) continuous but not derivable at x =0

€) not continuous at X = a

d

1
1

z-l-\/m

a)

C

If o is a repeated root of axZ + bx + ¢ = 0, then lim

a)b
o0
Iff(x)= [ ;3:2;:; dz, then JCh_)IElo f(z) =

a) none of these
c) 00

n n
dar-y 3
lim =—'— is equal to
z—3 z—3 d
) (2n—1)x3"

4

a

) (2n-1)30+1

The value of lim (secz — tanz) is
z—7/2

a) -1
ol
% (cos™(y/1T—a?)) is equal to

Q) —=— for0<|x| <1

V1—22

) —= = for x| <1

vV 1+

tan x
z—0 log(1+z)

is equal to

a)l

o0

. V1itz—1
lim -

z—0

is equal to:
a)o

1
C) 5
lim (vz-1)(2z-3)

is equal to:
r—1 2z2+z—3

T—Q

tan(az?+bz+c)

b) 1/2

d) -1/2

for x # 0 and f(a) = 0, is

b) derivable at x = a

d) neither continuous nor derivable at x = a

E(% ;1;2+a2+§log(w+ x2+a2)) is equal to

b) /2% + a?
d) v/x2 — a2

(mfa)z 1S

b) c
d)a

b) 1

d) 0

by nnx3-1
4

d) (2n—1)x3"+1
4

b) 2

d) 0

b) 2 for [x] <1
4—(2z)?
d) £ for 0 <|x| < 1

|z|/1—z?

b) does not exist

d) log 2

b) 1

d) 2
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

a)l
¢) None of these

n .
——2— n>m>0is equal to
z—0 (sinz)

a) =

o1

10

b) 0

d) -~

If f(z) = 9% for some constant, a, then f'(a) is equal to

r—a
a) 1/2

o1

lim
z—o0 2z+l

a)l

is equal to:

o0

. sinz| .
lim | |

z—0

a) None of these

o1

b) does not exist

d) 0

b) -1

d)0

The derivative of sec™! ( 1 ) with respect to /1 — z2 atx = Lis
2221 P 2

a) 2

o1
fy=1+2 + 2 4 2 o then 3 =

a) y2

Ay

fx)=|x]x|in-1 <x<2is
a) continuous at x =0

c) continuous at x = 2

44/2—(cos z+sin z)°
1—sin 2z

lim

z—m/4

is equal to

a) None of these

o) 3v/2
sin|z]

it ol 0
0 ,[z]=0

a) is equal to -1
¢) is equal to 0

lim S is equal to

=0+ |, /16+/z—4

a) does not exist

o0

b) 4
d) -2
b)yy+1
dyy-1

b) discontinuous at x = 0

d) differentiable at x =0

b) 5v/2
d) v2

, where [.] denotes the greatest integer function, then lim f(z) is equal to
z—0

b) does not exist

d) isequal to 1

b) 2

d) 8
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. 8 x2 2 x2 x2 .
91613(1] 1—8{1— cos Z- — cos Z- + cos Z-cos T} is equal to [1]
a) — = b) =
Q) —15 d) 5
lim S22 js equal to [1]
z—0 %
a) x b) 755
o1 d)
sin|z] 7 [ ] [1]
If f(z) = ¢ , where [-] denotes the greatest integer function, then lim f(z) is equal to
0 ,[x] -0 z—0
a) None of these b) -1
00 d1
lim 12 g 1]
z—0
a)o0 b) 1
Q) 4 d) 2
i—z (cos™}(1— =) is equal to [1]
1 1-2
a) 1—z2 b) (2zfa:2)3/2
z—1 1
—_— d R S—
© (2z—=2)%? ) 2(2z—22)%2
sin( = —zx 1
lim # is equal to 1]
am/3 20082
a) V3 b) 3
Ok ) V5
iii% # is equal to [1]
a) 1 b) 0
02 d) -1
a -1 2 .
- (tan (m_lfz' )) is equal to [1]
a) /1 - a2 b)ﬁ,x;«éo,il
1 —2
O e # 0,41 d) ==
. sin .
91611% Trcoss) equal to [1]
a) 3 b) 0
o1 d) -1
If y = log x, then y, = [1]
(=D"n! (-1)"n!
2) 5 b) —
) CU" ot Gl
" "
If k be an integer, then lim (z — [z]) is equal to [1]

z—k~
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52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

a)o

ok

. 124224324, 4n?
lim LF2H3%+ . 4n

= is equal to:

n—00

b) 1

d) -1

b)
d)

N|— W[~

lim {1—1?’+$+ﬁ+...++} is equal to

(2n+1)(2n+3)

c)?2

lini SLE is equal to
r— -

a) %
c) —m

$2 COos *

lim — is equal to

z—0 1-c
a) 2

c) 3/2

The value of lim —2— is
n—oo (n+1)!-n!

a) None of these

o0

The value of nhj& (2 () S

a)0

¢) None of these

T , 0<x<1 .
,thenatx =1, f (x) is
{ 3—xz, 1<x<2 )
a) continuous on left and discontinuous on
right
¢) continuous but not derivable

lim x sin % is equals to
z—0

a)l
c) 1/2

lim (sec z)¢°t% equals:

z—
2

a)0

o1
. tan 2z—x
lim ——

z—0 3T—sinz

1
3)5

is equal to

b) 0

d) —

D | =

b)

d) —

3 =

b) -3/2

d)1

b) -1

d)1

b) continuous

d) not continuous

b) does not exist

d)o

b) a2

d) -1

b) 2
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62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

1
C)Z

lim
e (1)l

is equal to
a)l
o0

Maximum value of x> - 3x + 2 in [0, 2]is

a) 32
o1
_ ) d?y _
Ify=log (z + /1+ 2?) then — =
4
X
($2+1)3/2
—2z
) e
% (sin*1 (\/ 1- .’112) ) is equal to
a)—\/lai7 for0< x| <1
Q) 1+ X2

lim z;ﬁ is equal to

\ - z71 o )) .
—( cos is equal to
dz < (z*l-&-w q

If f(x) = x - [x], € R then f’ (3) is equal to
a) -1

3
C)E

an r .
— is equal to
z%% =7

a)l

o0

1—
1+

6!
2) (1+z)7
(=2).(6Y)
(1+2)7

Ify=

z —
— then yg =

<)

3 <
f(x) = 2% fol <1 then f(x) is
z, |z/>1

a) not continuous at -1 and 1

c) derivable at all x € R

d) -

N =

b) 2

d)

N~

b) 4

d) 2

b) —=

z2+1
T
(22+1)%/?

b) — —=— for|x| <1

\/17332
- < Ix| <
d) W for0<|x| <1
b) 0

d) V3

2
b x>0

d)1-x2

b) 1

d)o

b)%

d) 2

b) (=2).(7)
(1+2)°
(2).(6))
(14z)7

b) not continuous at x =0

d) not derivable at — 1 and 1
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72.

73.

74.

75.

Izt (1+a?) |
— = is:

The value of lim >
x

T—00
a) 2

¢) None of these

__ sinz+tcosz dy -0
Ify= pr— then = at x = 0 is equal to
a)o

1
C —_—
)3
lim —=£— =
‘,E_)Otanx

a) 4
o1
(1—cos 2z) sin bz

lim

250 z? sin 3z
5
a) 4

6
C)g

d) Does not exist

b) 0

d) None of these

b) =

d) 3
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(1]

[1]

[1]
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